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— (S;) 35 -25 =10

S,={(35-25)[ ]x13[L/ ]}x1[kg/L]x 4.186 [ki/kg/ ]x0.95x 87,600 ]
+1,000,000 = _45[GJ/ ]
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— (M)
T(GJ) = x
=24,000 [L] x 0.0373 [GJ/L] = _ 895[GJ/ ]
(F)
|:<L) = x ( or )
(F2)

F,=24,000[L] x0.05 = _1,200[L/ ]

15-70 2570
{1-(70-25)[ 1/(70-15)[ ]}  0.18 45[GJ/ 1/895[GJ/ ]  0.05
— (C) Co,
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6.43 21

4 2,020 15 668.5 14.7
5 2,210 16 668.5 14.7
6 1,357 10 668.5 14.7
7 1,080 8 668.5 14.7
8 1,700 12 668.5 14.7
9 1,270 9 668.5 14.7
10 2,010 15 668.5 14.7
11 1,980 15 668.5 14.7
12 2,625 19 668.5 14.7
1 2,745 20 668.5 14.7
2 2,305 17 668.5 14.7
3 2,120 16 668.5 14.7

23,322 172 8,022 177
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S1={(55-45)[ ]x100[L/ ]}x1[kg/L]x 4.186 [kJ/kg/ ]x 0.95 x 65,700 ]

60[ ]x3.0[ ]x365[ ] 65,700 ]
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— F)
FL) = x ( or )
— (F1)
F,=12,960 [L] x 0.45 = _5832]L/
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WY, =2,187 [m*] x 221 /m%+10,000= 48[ /| ]

2

®)

(4)

1/3

23

77

1/3 1/2




6.6.4

6.49

172

43

48

1.9

10

6.50

1/3

172 x2/3)
115

43

48

1

1.3

10

78




6.7

6.7.1
1)
55 7.5 /
6.51
55 7.5L/
45 7.5L/
(2)
1kw 6 1 18
7.4
6.52
kWh 600 o 562 562 562 562 562 562
4 500 F~——~ """~~~ -~~~ ~-~7 7 - N e
5 400 -~~~ - -~ T - N s e
6
7 30 -~~~ ~"~"~"~"~=~=~=—=—=—== — 7 - N s e
8 200 f-—-—-—-—-—-———-———-——- |-+ - -0 B
9 100
10 12,355 562
11 12,355 562 o
12 12 355 562 4 5 6 7 8 9 10 11 12 1 2 3
1 12,355 562
2 12,355 562
3 12,355 562
74,130 3,372

79



6.7.2

6.53
400kcal/m2h
0.37m?
55 45 s“
7.5L/ - ;-7.5L/ QD
—> i —>
15 ’ 35
2.5L/ 2.5L/
10
6.12
= S
S(GJ) = X X X X X + 1,000,000
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F(kWh) = x
= 3,372 [KWh] x 100 [ ]
= 3372 [kWh/ ]

___ © CO,

C(t-CO,) = x 1,000
= 3,372 [KWh] x 0.474 [kg-CO,/kWh] + 1,000
= 1.6[t-CO,/ ]
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P. 8 ()
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P10 ()

P10 ()

P.11-12 ()
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P.95
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P.66 6.9

P.83 6.13

3352-1
TEL: 0269-33-3111
FAX: 0269-33-4527

E-mail: kikaku-zaisei@town.yamanouchi.nagano.jp

HP: http:/ /www.town.yamanouchi.nagano.jp/

104



